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1.  Answer any ten questions : 10x2=20

(T I wifo ersd Ted wie)

a.

What are the major categories of entrepreneurial functions?
Suiaifeles feaies el T 11

What do you mean by the term 'project'?

‘e Wi 7kl of 5 @Rie

Define the concept of entrapreneur.

STER QR AwIRS 79|

Define the term Entrepreneurship motivation.

TN (2 FRSWIRS 4|

Mention the names of different types of entrepreneurs.

ey @ Swiema J1 SrEe 9 |

State any two role of District Industries Center in supporting to entrepreneurs.
o@1l Rt SWietR SIS AR @@ 4 9 TS @14
Write the names of various growth strategies.

ffen s @R T @12

Mention two essential features of an enterprise.

oA ub Seifaee @Ry e 391

Give two examples of likely socio-economic benefits from a project.

@ 2 (AF ey SNd-Iifes AfRkaw ufe Snizzel wie |

i. Define NGOs?

NGO-95 HRe=l nie |
What are the types of needs according to McClelland's acquired needs theory?
McClelland-43 wIf&rs Sifent ©g SR Siftna aFef § Jie
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1. What is meant by capital structure?

THE I IS F (@R 2

m. What is Tax holiday.
Tax holiday 2

n. What is meant by Joint Venture strategy?
@Y Tewlel (FE <@l @R

o. What is meant by zeroing in process?
zeroing in A& IO FI @R 2

Answer any four questions : 4x5=20
(@ @I 5D erid Ted wie)
a. Write a note on National Small Industries Corporation (NSIC)
TSR FulE FAE (9. @1, =iz, B1) T @3 St @14 |
b. Briefly discuss the planning commission's guidelines for formulating a project report.
ofFH 2o 2RI G AR FhrEa FERReR FKewcel el 39|
c. What are the stages of growth of small enterprises.
@5 TSI TR distef [ e
d. Discuss the problems of rural entrepreneurship in India.
eReed aisnel fafers AT FE S w9
e. How does Merger strategy work?
e (e FIOII FIE 0 2
f. What are the causes of Industrial Sickness in India?
wired g wael el & e

Answer any two questions 10x2=20
(@ @I o oted Ted wie)
a. Discuss the principles of Motivational entrepreneurial theory.
(ARG Swlorered SRS T2 SEThal 4 |
b. How does institutional support work for enterprises in India? Critically Discuss.
Feld Afeifie AL SrRren Triaeiire e T 2 GBS SN 4 |
c. Discuss the various sources of finance for project in India.
o [Kfeq 2cma Sl A T 7 SNeEnbel 3 |
d. Critically discuss the role of Entrepreneurs for economic development in India.

CRCed AT ST G SIS Ghie F@ TIEbaEE SIEbal 34 |
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Paper : DSE-4
OR
(Financial Economics)
Time : 3 Hours Full Marks : 60

The figures in the margin indicate full marks. Candidates are required to give their answers in
their own words as far as practicable.

wfaRe ol @ RS 2riF s oM | AR 1 e o Sen fite 2@ |

1.  Answer any ten questions : 10x2=20

(@ e wif ersid Ted wie)

a. What do you mean by systematic risk?
e R Fee F @RI2
b. What is financial asset?
RIS URE
c. What do you mean by present value of any capital goods?
@I TG G IS 6 600 (@R 2
d. Distinguish between equity and debt.
3330 @ AR M A T4
e. What do you mean by "Time Value of Money (TVM)"?
T TR ET e (@R 2
f. What is the relationship between asset beta and equity beta?
o 51 @R @ R[OS 7715 52
g. What is risk-free asset?
fe-ye >m oo
h. What is Portfolio Variance?
wibcrifere conw 2
1. What do you mean by "Capital structure"?
‘e PN FeACe R A 2
J- Define cost of capital.
SEE AN @00 (R 2
k. What is optimal capital-structure?
JI JEL 5 FIE A2
1. What is meant by risk-return trade-off?
Jfe-raced ST F@ce 6 @R
m. State the one fund theorem.
GT-02f<E GoAmh Srard 9 |
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0.
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What is preference share.
aftel sTeriRH (@9 TR FIE A0 2
Define "Futures Contract".

“RPEHIR FVIF RO 39 |

Answer any four questions 4x5=20

(@ @ BEG ersd Ted wie)

a.

b.

C.

d.

€.

Explain the internal rate of return (IRR)?
Srerale RO 2 (T2 =7 ©7) 0 |
Explain Fixed-Income Security with example.
Trizepiz fRa-w el i w4

Write a short note on Yield Curve of a bond.
IET TT (FUR AT @ RERY (W5 ford |
Differentiate between spot rates and forward rates.

{5 @5 IR FERIG @G N AL 7 |

Write a short note on option.
Option-a3 &7 @ e TiFl &4 |

f. State the steps to calculate the beta of a firm's equity.

&N @36 Tl 35ab {61 Wdiaem smewsiafe S 92

Answer any two questions : 10x2=20

(@ @Il %6 etsm Tea we)

a.

Criticaly evaluate the Net Operating Income (NOI) approach of the capital structure theory?
T P SCGH (6 AL TR (G€NR) #afont FENGA Toie TR |

Why duration is a good measure of interest rate sensitivity? Explain.

@ duration (FFfSFIeT) MR QT AL TOR GF0 Sl 2IfFioi 2 1y 4|

What is Capital Asset Pricing Modal (CAPM)? What are the assumptions of this model?
What are the implications and limitations of CAPM?

SEKE R i e Teeat Fle 92 e SRl & e 92 seEw kel ¢
lesafer 3l 7|

(a) The variance of market return is 0.05 and covariance between market return and returns
of X's share is 0.084. What is X's beta?

(b) Calculate cost of equity; risk-free rate is 7.7%; market rate of return is 15.6%; beta is
1.23.

(F) AT Afoniemd (oviss =0.05 | IS afenia 8 X-a3 RIET AfSwied S FA2rewiid
=0.084 | X-93 &Gl ¢

() 352w e 9 ¢ I QT 99 =7.7% T afonies g9 =15.6%, &[G =1.23.




